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Phenotype Data Analysis Plots
PhenoData day range = 8 - 12
Analysis cutoff day = 12
NC11 EQ2
2025-06-05 (Day 13)
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8 9 10 11 12
0

5

10

15

20

EQ2AE-02-50 (fit failed)

8 9 10 11 12
0

5

10

15

20

EQ2AE-09-24 (fit failed)

8 9 10 11 12
0

5

10

15

20

EQ2AE-13-8 (fit failed)

8 9 10 11 12
0.0

2.5

5.0

7.5

10.0

12.5

15.0

17.5

EQ2AE-19-45 (fit failed)

8 9 10 11 12
0

5

10

15

20

page 1

EQ2AE-24-33 (fit failed)

StH



9.6 9.8 10.0 10.2 10.4
d

1.82

1.84

1.86

1.88

1.90

1.92

1.94

page 1

 avg

dStH: avg vs. d
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 est
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dStH: obsAvg vs obsOv@Q50
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dStH: D_5d_StH
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dStH: D_15d_StH
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 pcrDelta_avg

dStH: D_Q50_StH
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dStH: D_Est_StH
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 sfDem

dStH: sfDem
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